
 3204 

 200  200 
 3510 

 489 

 371 

 2
19

8  3
12

8 

 5355 

 1782 

 1782 

 1782 

 3398 

 350  350 

 3898 

 3548 

C

Carport M05 - 1 loc

D

1

3

4

2 1

ancora M12x150
(16 buc)

surub M10x40
(16 buc)

surub M10x40
(16 buc)

surub M10x30
(16 buc)

surub M10x30
(24 buc)

surub M10x30
(24 buc)

 3
89

8 

DETAIL C

SCALE 1 : 10

DETAIL D
SCALE 1 : 25

Profil uzinat

ITEM 
NO. PART NUMBER DESCRIPTION QTY.

1 Travee Carport M05 2
2 Profil C - pane _ 1L L = 3300 mm 6
3 Profil L M05 - pt pane 12
4 Sablon panou solar 1060 x 1782 9

A A

B B

C C

D D

E E

F F

G G

H H

12

12

11

11

10

10

9

9

8

8

7

7

6

6

5

5

4

4

3

3

2

2

1

1

DRAWN

CHK'D

APPV'D

MFG

Q.A

UNLESS OTHERWISE SPECIFIED:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
   LINEAR:
   ANGULAR:

FINISH: DEBURR AND 
BREAK SHARP 
EDGES

NAME SIGNATURE DATE

MATERIAL:

DO NOT SCALE DRAWING REVISION

SCALE:1:50 SHEET 1 OF 5

A2

WEIGHT: 

Carport simplu - M05
Ansamblu 

ing. Ghibuci Daniel
Lupu Ionut
Lupu Ionut


	CP M05 1L ans
	Drawing View2
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View50
	Detail View C (1 : 10)
	Detail View D (1 : 25)


